FM{AE DR (0z7nyr kL tisEEs)

~TOV)REHGEER - HERARAE

BHTEITENET ~
| B s o 1 - 10 @3 || . 1988 o XB= 97 — 30
NAT  em wxe=e 81 - 72 B 31
15988 WXB=h 3 — 0 8F e o
A . Rl 3 hlih 42 — 65
iy 29E8 W FEED 10 - 0 HEE
g B WEKESP 3 -0 © 1958 3 RE=P 39 — 66
SREE W RE—P 1 — 3 \ OHEE W Pld 43 — 82
/§7\¥,7 351‘29 st KE—h 28 — 50 S
1588 W KE-P 2 — O pios 1 xEmE 20 — o
i \ =2} -
NU-K - 2#68 W XE=h 2 — 0 Ew =
g+ 3EHEE WEXKE-P 2 — O @ 1588 W XE-P 1 — 3
4588 W XEOP 2 - 0 SRBEF 258 WHoRe 3 - 2 FRIEHW
3H88 W KZ= —
Jpsy (FB8 MFE=® 2 - 188 W XE=P 0~ 8
}Z%%-X 2H8B XE=h 0 -3 B3I 15768 X REOD 3-0
MhpE 0 RE— 1 — oHEE WXE—P 0 — 3
3HEE W XE=h 1 — 3
__ 1#8B wowd 0 — 3 SRLF A8 X XE= 7 3
2] 57 S =34 AHGE WXE—H 3 — 0
i) \ 8 -
SHEE 1 hwd 1 -3
ZF  eam mrm—od 0 - 2 nos 2
1558 W xE— 4 — 1 .
1HE8 31 XE—P 281825 #o8 AR B
. e FTERF 2688 W XEB=D g = 2
Sl OHEE W XEM® 2B3KO0S & 3 4 NI . (®)
B 3meg w xES® 3BOM2%D A =
4FBE W bl OB5HO% | BELTF ¥ wxE—P 0 — 2  HEEEO |
| & BHLEEMRAEXTEAR TS |
B NEFE R (03Tnvs ALt BiEES)
U RS2 Al &=t #S @ 30 5 Oke#k: WwE B3 1{7 ©
87 RO - B =@ 8 3(U 5 5kei: 2N RE  1f1 ©
ZEBTF 55keih RRIREES  2ft1 ©
| SKEF 154030 ®H OHEE 2 | 6 Oke#R BH BE 111 ©
7 3keik TE ME  2f1 ©
| SmaF e B 21 O
\ 4 Oke#k = == 1{u ©
HB3000m BB —=2  3m FBLT ) oyetm HE B8 1 o
HE3000m B RS 6fy
FEISE wE EE 40 B50m ¥ e —& 21U
BEFEF =Sk mE OAE 2 B50mF D RS 4
fakLiR B +8B 3 B50mE k@ R& 5
fakLiR STO BEBA 4hY B50m/\5 ERAWE 21
FakLiE Ew B 5 $100mz Bl 0 6fu
- 8100mE ERAWE 31
1Z100m  BEHHLD 5 KABF  =400mE e —® A
2%100m  ED FHM  3f £100mE& ERAZF 3
24100m  TiE &k 51 $100mE D RS 4
HE200m D FML 3f7 £100m/\% ERAZE 31
H®200m  EZ@ fgE 5 E200miE X k@ |R& 3fu
BEr&F  HES00m N BN 2f £400mR WD A Al
HE1500m hoEE =l 511
HEAOOMR WD A 1141 Z50miE o ®.n 6
FEISH TE gk 1 Z50mE MR fE 5
FakLiR PE & 2 Kok X100mE MR e 5
kL% ik BE 411 ’ 2Z100miE o Bmn 511
#7100m& B8 E=B 6fu
Z400mR Il 547




